kot
&

[T} [TTTTTTTTTTTTTTTTTTT ‘ TTTT ‘ FTTT ‘ FTTT ‘ T ‘ FrTTTTTTTT1]
— O = -
ol s E central dijet E
©E 7F anti-k;, R = 0.8 ]
= - -
S E charged particles ]
= 2 —+— CMS (preliminary)
- -==x,=05 .
1.5 ; ...... X[ = 2 —:
C BN x; =1, (default) 7
1 — —
0.5 ‘é
:l (| ‘ | ‘ | ‘ | ‘ [ ‘ | ‘ D G—— ‘:
o =R ‘ [ ‘ T ‘ T ‘ [ ‘ rrrp Tt ‘ [ ‘ [ ‘ IS
c 1.6 —
- = =
c 14 =
8 12b E
~ 1 ¢ + =
%‘08 —
0.6
2 04
= o2
o) I L1 I L1 I 111 ‘ I 111 ‘ [ ‘ L 111 ‘ L 111 ‘ I L1 ‘ I L1 ‘ I L1

o

01 02 03 04 05 o6 ©07 08 09 1

Groomed LHA A} -



